IR 2 7FE BEENISEFRIZCE THAREREEH
205 EFH — — No. 1
= 5 FatH =+ 5 < stz =
= & 2 - 2 |x| BRAR | Feay | TRAH ) BEAEEE) G o4
£ i (A) (B) B=A|™T"
TE TRE E:3 200 () 238 292] 1.23] 1.35
tEEDE EEF s 240 (2 238 286] 1.20 | 1.20
tER® TEF S 120 (1) 119 109 0.92 | 1.02
FHa—R s 80 30 80] 1.00 | 1.06
tE™ B s 280 (2 278 247 0.89 | 1.19
i TEF o 320 (2 318 383 1.20 ] 1.19
HEm EEF s 320 (2 318 304 124 1.12
FEFERE [EEF s 720 (5) 715 875 1.22 | 1.41
NGRS TEE S 320 (2 318 383 1.20 | 1.03
= EEF o 280 (2 278 362 1.30 | 1.17
ESHIEE TER 3t 200 (2 198 180 0.91 | 1.05
SEFN TEF ] 360 (2 358 603] 1.68 | 1.55
sEFNdE EEH 3t 320 (2 318 380 1.19 | 1.46
EME—XF [EEF Zz 360 (2 358 527 1.47 | 1.55
SEFNPE TEF s 360 (2 358 550 1.56 | 1.53
SEFIR I EF T 320 (2 318 376] 1.18 | 1.35
PN TEE 3 360 (3) 357 445 1.25 | 1.28
N A TEFR s 160  (2) 158 193] 1.22] 1.19
WEEI—X | & 40 40 51] 1.28 | 0.85
AEE TEE 3 280 (2 278 261 0.94 | 1.14
A= T EF s 360 (2 358 480 1.34 | 1.35
AEREE  [EEF T 240 (2 238 286] 1.20 | 1.34
NI TEE S 240 (2 238 235 0.99 | 0.85
I T EF s 320 (2 318 3771 1.19 | 1.01
181178 I EF T 200 (2 198 203 1.03] 1.06
A TEE S 120 (1) 119 84| 0.71 | 0.68
Z0E T EH ] 360 (2 358 554 1.55 | 1.38
EZAREF  [EEF x 280 (2 278 332 119 1.14
ZHHE TEF S 320 (2 318 357 1.12 | 1.44
TI=] I EF Er 360 (2 358 455 1.27 | 1.22
=B EEF s 360 (2 358 578 1.61 | 1.55
N0 &kE TEE s 320 (2 318 325 1.02 | 1.01
=E3 EEH o 280 () 278 206] 1.06 | 1.24
E TEF ] 400 @) 397 549 1.38 | 1.66
FEEsa TRE Z 400 @) 397 569] 1.43 | 1.51
JI[E 7 EBE 3t 320 (2 318 369] 1.16 | 1.06
IR E EEF 3t 240 (2 238 219 0.92 | 0.99
M LRE 3t 360 (2 358 516] 1.44 | 1. 41
JEK EBE T 200 (1) 199 193] 0.97 ] 0.78
A= TEE Z 280 (2 278 308 111 1.20
BN TRE ] 360 (2 358 A1 1.23] 111
ERSETF ERE & 360 (2 358 436 1.22 | 1.32
AT TEE S 280 (2 278 315] 1.13] 1.19
EELE TEEF s 240 (2 238 221 0.93 | 1.00
B EEF T 200 (2 198 236 1.19 | 1.05
BELF TEE Z 120 (1) 119 114] 0.96 | 0.81
BT A Tai s 320 (] 318 530 1.6/ ] 156
“HEAED ROBFE, GHE I OERMATENDREAECHY . BEAEORNBCHD,

()
- BRFERESEFERD [EEM] X, AX. BH.

SE 4
Ao+«

AR—YHZE, =M. EERZ. FREEOHTH S,




28 @A No. 2

R T B 5 R R, —

2 & | 23— 2 |k| BKRAR | Fray | vhox | BF W5 4
% i (A) (B) e o
BAL EBT : 360__(3) 357 7 125 [ 1.0l
A TEH H 360 (2) 358 451 1.26 1.28
AR TEH H 280 (2) 2178 251 0.90 1.13
e TER H 360 (3) 357 518 1.45 1.24
RE TER H 120 (1) 119 126 1.06 0.74
_ AEaI—X H 40 40 40 1.00 0.85
iﬁE TER H 320 (2) 318 415 1.31 1.18
RET TEH H 320 (2) 318 383 1.20 1. 21
FILERE TEH H 240 (2) 238 270 1.13 0.99
EAR ZER H 280 (2) 278 291 1.05 1.03
EF0 TEH H 200 (1) 199 169 0.85 1.13
=] TEH H 160 (M 159 184 1.16 0.87
_ ##asazyr—vava—x| H# 40 40 32 0.80 0.86
Jﬁﬂ%ﬁﬁ TEH H 40 (1) 39 28 0.72 0.67
EFE TEH H 320 (2) 318 371 1.17 1.02
)| TER H 360 (2) 358 440 1.23 1.15
)k TaEE H 240 (2) 238 293 1.23 1.09
9IS TEE H 320 (2) 318 382 1.20 1.22
BN TEF H 240 (2) 238 288 1.21 1.29
B TEE H 240 (2) 238 242 1.02 1.07
@%?’%%E\. EER H 240 (2) 238 268 1.13 1.01
EH'I:R TEE H 360 (2) 358 460 1.28 1.32
EﬁZRjt TEEH H 360 (2) 358 584 1.63 1.55
EJ?ZR‘:F'HE EER H 320 (2) 318 312] 0.98 1.14
iR P TEF H 320 (2) 318 376 1.18 1.29
2 TEH H 320 (2) 318 320 1.01 1.14
52tz TEE H 320 (2) 318 548 1.72 1.42
%ﬁEE TEF H 200 (1) 199 214 1.08 1.26
BTEENNE TEEH H 240 (2) 238 250 1.05 1.21
SE MR TEE H 240 (2) 238 264 1. 11 0.79
By B TEH H 160 (2) 158 221 1.44 1.15
JB LU TEH H 120 (M 119 90 0.76 0.70
PEFE— TEE H 240 (2) 238 216] 0.91 1.06
BREE TEH H 240 (2) 238 254 1.07 1.12
AREER TEH H 160 (2) 158 137 0.87 1.02
__ FTEaI—X H 80 80 51 0.64 0.80
== TER H 120 (1) 119 143 1.20 1.05
BERI—XR H 40 40 34| 0.85 0.83
ER TEE H 240 (2) 238 234] 0.98 0.97
lzﬁ'\%—_ TEE H 320 (2) 318 333 1.05 1.04
E#E TEH H 240 (2) 238 274 1.15 1.02
,_\ C & B *EEF $t 160 (2) 158 153 0.97 1.08
& TEE H 320 (2) 318 435 1.37 1.27
AE TEF H 320 (2) 318 408 1.28 1.06
LN TEE H 120 (2) 118 136 1.15 1.34
BRESHRRa—R | & 80 80 71 0.96 0.96
FALL EEE E 280 _ () 278 347_1.25] 0.98




28 @A No. 3

= 5 TEFAT | coen | oa —

2 B £ 3 - 2 |k| B AR | geay | CRAK | BR AR G o4

% #* (A) (B) B-A|™"

Wz F TRT T 320 (2) 318 366 1.15 1.17
= =EE H 200 (2) 198 236 1.19 1.27
FRa—X H 40 40 49 1.23 0.93
=3Bl =8 H 280 (2) 278 286 1.03 1.11
=t =EE H 240 (2) 238 271 1.14 0.94
E3 =EE H 160 (1) 159 181 1.14 0.97
J\#H =EE H 160 (1) 159 178 1.12 1.21
AKEI—R H 40 40 37 0.93 1.15
J\iZEa &R H 80 (1) 79 71 0.90 0.86
5% =8 H 360 (2) 358 460 1.28 1.41
S =EE H 200 (2) 198 226 1.14 0.97
A ERE =& F H 240 (2) 238 334 1.40 1.50
==y =85 H 280 (2) 278 273 0.98 1.22
R =EE H 360 (3) 357 549 1.54 1.53
O waz)lla =ER H 240 240 293 1.22 1.38
O HirEf5 =85 H 160 160 237 1.48 1.16
O thar)ll#x =EE H 140 140 216 1.54 1.26
O T rE#n =EE H 280 280 476 1.70 1.82
O TiLEFIF =EE H 320 320 519 1.62 1.40
O iaKEi =EE X 320 320 388 1. 21 1.27
O hii K= Z=EE 3+ 240 240 361 .50 .28
Z = # ST1_ 20180 (193)] 7808/ 3533/ 1.22] 1.2

- ORI, MIAIBFFR



£ ES BFER _ No. 4
= T AFHA | — = —

2 % 4 3 - 2 |k| B AR | geay | CRAK | BR AR G o4

% H (A) (B) B-A ™"
- B = - B 4 !

RBAE B G A H 40 40 47 1.18 1.13
EYAEE TSR | & 80 (D 79 87 1.10 | 0.96
E it 7 80 80 56| 070 | 1.24
EYAEERME | & 80 (1) 79 85 1.08 1.34
ES=T: EYE R # O 39 37 0.95 | 1.18
BIETYA UF | & 20 40 290 1.23 | 1.28
PrEZ W | & 20 20 28] 1.20 | 1.45
EES 7 40 20 a1 1.03 | 1.35
EET 1 20 (D 39 25 1.15 | 0.79
BoRah £ 40 40 34| 0.85 | 1.45
A SE R E: 40 20 39| 0.98 | 1.43
EWMEETSH | & 40 40 33 0.83 1.00
BREINT |[BZF £ 40 20 47 1.18 | 1.18
BRILER # 20 (D 39 3] 0.87 | 1.00
HZMEER H 40 40 45 1.13 1.15
By A B=T94 8 | & 20 20 50| 1.48 | 1.35
FEEZE EESE % 20 20 24 110 | 1.30
EERFH # ) 39 57 1.46 _08
E _Z 75 E 840 (6) 83 887]_1.06] 1.20




Bl =FZHE No. 5

= #q] B AR | = - — —
2 % 4 3 - 2 |k| B AR | geay | CRAK | BR AR G o4
% H (A) (B) B-A ™"
L ES IS E 9 2 & El
SEALE BRE E: 80 30 68] 0.85 ] 0.70
R E T 80 (1) 79 89| 1.13 | 1.08
SERTLE [ & 40 40 421 1.05| 1.15
B 3 40 40 49 1.23 | 1.45
AEILE R 3 80 80 85| 1.06 | 1.06
BE5F E 40 40 39 0.98 | 1.00
EER s 80 (1) 79 97 1.23 | 1.22
EF WA # 80 (1) 79 99| 1.25 | 1.08
ZANIE [BEE # 80 (1) 79 971 1.23 | 0.95
EEH 3 80 80 100] 1.25| 1.06
EAE 3 80 80 76 0.95 | 1.00
NOIZE R 3 80 80 88 1.10 | 1.23
BE5H o 80 (1) 79 108] 1.37 | 1.08
EHREER s 80 80 87 1.09 [ 0.85
IR T2 THA F 3 40 40 55| 1.38 | 1.13
EZER 3 40 40 51 1.28 | 1.58
Rl S 80 (1) 79 94 1.19 | 1.24
E5F E 40 40 51 1.28 | 1.28
1L FF T 80 (1) 79 76] 0.96 | 1.05
REITE B8 3 40 () 39 34 0.87 | 1.05
TELFFR 3 40 40 34 0.85| 0.78
R T 30 80 89 111 | 1.03
BEREH E 40 40 25/ 0.63 | 0.78
B 3 40 40 42 1.05| 1.18
EATE BE5F #* 40 40 30 0.75] 0.95
EER E 40 40 421 1.05 | 1.28
+ K# 3 40 40 47 1.18 | 1.23
b T 80 (1) 79 70 0.89 | 0.90
R E 40 40 52 1.30 | 1.03
HAKART [EFERE # 80 (1) 79 711 0.90 | 1.00
R T # 40 40 57 1.43 | 1.60
HEEE EWE 3 40 40 36/ 090 1.03
EF R 3 40 40 52 1.30 | 1.08
LT E R 3 80 80 78] 0.98 [ 0.90
BE5F s 80 (1) 79 64 0.81] 1.08
EF R 3 80 80 64 0.80 | 0. 91
EEEE BRUATLE [ & 40 () 39 46] 1.18 | 1.18
FRA T« 75 [ H& 40 40 51 1.28 | 1.10
LOO3<YR [H# 40 40 56] 1.40 | 0.83
MREIFE [BEEATLE [# 40 () 39 43 1.10 | 1.05
BB X TLE [ # 40 40 A 1.03 | 0.97
HMERERN [EFERE T 40 () 39 44 1.13 | 0.82
R TR s 40 40 47 1.18 | 1.28
THA F E 40 40 47 1.18 | 1.20
ST XN [BERE T 30 30 790 0.99 | 1.35
EF WA E 40 40 37 093] 0.95
E5E s 40 () 39 37] 0.95 | 1.08
B H# 40 40 31 0.78 | 1.08
ERE TR 3 40 40 51 _1.28 | 1.13
T E 7l = 2.760 (15) 2. 145 2.948] 1.0/ ] 1.07




B BEIFH _ No. 6
= *—I- 2 J\?E‘FEI =+ ) ¥r ST —

2 % 4 3 - 2 |k| B AR | geay | CRAK | BR AR G o4

% H (A) (B) B-A ™"
B ' = 5l 9 2 Eal El

TE BEE H 120 120 53] 1.28 | 1.33
EHEE EEZE T 120 (1) 119 115/ 0.97 | 0.91
EHRANIEF] E 80 80 65| 0.81 | 1.10
SEFREE EEZ! s 200 (2 198 170/ 0.86 | 1.13
EHRNEFR] s 80 80 83 1.04 | 1.19
A=EE EER o 240 (1) 239 225 0.94 | 1.08
BEAEE EEZ! s 160 (1) 159 167] 1.05] 1.07
EHRNIEFR] s 80 80 58] 0.73 | 0.88
EE FER 3 80 80 76/ 0.95 | 1.10
BAKREEN [uakEs H 40 (1) 39 51 1. 31 0.79
ERNIEF s 40 40 47 1.18 | 1.05
RILREF R AL S 80 (1) 79 73] 0.92 | 0.87
£EtE 3 80 80 66/ 0.83] 0.88
EHRANIER] s 80 80 84 1.05 | 0.96
PONCES EHRNIER] 3 80 80 89| 1.11 | 0.93
R 3 80 80 87 1.00 | 1.14
ECRREEF [ # 80 (1) 79 57 0.72 | 0.95
EREEN [REECRRE [ & 80 (1) 79 67] 0.85] 1.03
184 & BEHRNIEFR] T 80 30 130 1.63 | 1.16
B L BEHREER E 80 80 55|  0.69 | 0.49
PREZEES EER 3 40 40 38] 0.95| 1.13
ECRREHHE [ # 40 40 20 0.73 | 0.53
EHRANIER] E 40 40 40 1.00 | 0.73
EAEE FER 3 160  (2) 158 192 1.22] 1.05
£EH T 40 40 31 0.78 | 0.98
EHRANIER] E 80 80 82 1.03 | 1.00
ER EEEA 3 120 (1) 119 42| 0.35| 0.55
J\Em mEER o 80 80 80] 1.00 | 0.98
EHRANIER] E 80 80 101 1.26 | 1.15
O #xIlg EEESHRE [ X 40 40 60 1.50 | 1.58
O mhaz)lli EEEFE s 70 70 131 1.87 | 2. 11
ERNIEE 3 70 70 921 1.31 | 1.44
ElE IR =t 2.820 (12 2.808 2.836] 1.01 ] 1.04

- OFIE. MIBFFR




£ A% HFEE - _ No. 7
= *—I- % J\iE‘FEI =+ * 5L 57 =
2 % 4 3 - 2 |k| B AR | geay | CRAK | BR AR G o4
% e (A) (B) B-A ™"
I = B g 3 !
EELZF EBE = 40 10 9] 1.23 ] 1.65
EG S = 40 40 47] 118 1.35
BAKEEN [R&GBTYAUE [ H 40 40 411 1.03 ] 0.80
BYREE s 40 40 43| 1.08| 1.65
BMRXEIFE [SA 775/ R H 40 40 36] 0.90 | 1.10
J— RFTH4 VR & 40 40 47] 1.18 | 0.83
HERERM [IRETHA VR | & 40 40 35] 0.88| 1.05
| | BYiREE HH 40 40 48 .20 40
R _E T = 320 320 346 08 23
E % - B I 2 ZF &
Bl ESH 18! R 80 80 w 39 [ 1.18
| £ & 7 = 30 30 1 30 | 119
43 E 2 B 234 b5 2 F F
EHE R T \EER S 40 40 65] 1.63 | 1.53
AR SVEZER s 40 40 68] 1.70 | 1.15
RE HNEEE s 40 40 52 1.30 | 1.73
=g S EEER 3t 40 40 52 1.30 | 1.55
ik SVEZER e 40 40 64] 1.60 | 1.45
T EH HNEEE s 40 40 68] 1.70 | 0.93
L ERE S EEER 3t 80 (1) 79 123 1.56 | 1.72
FE A E 40 40 75 88 43
51 Bl & 7 =T 360 (1) 359 567 53 47
E 1= ESl 9 2 Ea £l
RESE EME E: 40 40 54] 1.35] 1.35
HE EXnEE T 40 40 311 0.78] 1.60
=g EXhEs! 3+ 40 40 44 1.10 | 1.40
EIEGEES! = 120 120 129] 1.08 ] 1.45
= S = g 3 % g2 £l
K= RE SEE E:3 40 40 9] 1.23] 0.90
E oY ZEF s 40 40 32| 0.80 | 0.95
MK ZEE E 40 40 50 1.48] 1.18
= = 3 = 120 120 T40] 1.17 ] 1.01
2 B - BH 3 A = #
[ KERE [EEEL 3 40 40 36]__0.90 10
£ E 7 =t 40 0 36]  0.90 10
= Iz 7 % 2w
XER e ETS 80 30 87] 1.09] 1.36
HCHFH AA— VYA AR 3t 30 80 06 33| 1.30
*= & 7 : 160 160 93 21 | _1.33




£ B%  HFPE _ No.8
— = I ANEHA | —ppmar | e —
2 % 4 3 - 2 |k| B AR | geay | CRAK | BR AR G o4
% #* (A) (B) B-A ™"
= = HE Ei 3 !
N EEE E: 40 40 119] 2.98 | 2.43
EEAT HHE # 40 40 43 108 1.10
WAt TR # 40 40 58] 1.45| 1.58
NI HHE E 40 40 75| 1.88 ] 203
O muAzdl  [BEHE H 40 40 74]_1.85] 205
= & F E 200 200 369] 1.85 | 1. 84
_f8 #f IZ i % 2 B
EEAE N EEETEE! E 30 30 38 10 |_0.98
R T 30 30 33] 1.10 | 0,98
A X T B T 7 = 3
Bl A X7 £ 40 0 26] 115 15
3 40 40 26] 115 15
L B 3 2 F &
E 20 40 5] 1.43] 1 19
= 40 40 571 1.43] 1 18
L B 3 2 = &
40 40 52 30 03
= 40 40 52]__1_30 03
B 3 % = F
i #2 H = H 40 40 42 .05 .38
S = 7% = 40 40 22]  1.05 38
£ B - B &= = & g %
DT A TER 13 20 (1) 119 T13] 0.95 | 1.02
EER ETa 120 (1) 119 121]_1.02 |_0.86
% B E % = 2802 238 234]_ 098] 004
= FH F # [Zf]___8.300_(36)] 8_264] 9.081]_1.10] 1.12]

- OFIE. MIIEFFR




L B No.9

== 2 % )\$E¢H -+ 3 ¥r ST =
2 B £ 3 - 2 |k| B AR | geay | CRAK | BR AR G o4
X i (A) (B) B-A | ™"

INEEET BEEF I 120 (1) 119 101 0.85 0.53
JI#LE HEFH H 240 (1) 239 2717 1.16 1.23
AE L5 BE2H H 320 (2) 318 350 1.10 1.07
E i WEeEH H 240 (1) 239 219 0.92 1.07
HEIEEE HEFH H 160 (1) 159 175 1.10 0.93
SR ANE Ak BE2H H 120 (1) 119 125 1.05 1.02
BIBE WEeEH H 280 (2) 278 309 1. 11 1.17
EIES:S BExH H 120 (1) 119 147 1.24 1.29
FEHI BE2H X 240 (1) 239 242 1. 01 1.03
O MmilORE BREFE H 200 200 275 1.38 1.34
w5 = FH =t 2,040 (11) 2,029 2,220 1.09 1.09

(31 39.520 (240)] _ 39.280] __ 46.638] 1.9 | 1.10] I

[Ze5 2 8r Rawn
X

- OHIF, MILEHFFEKR




ERG] EEE No.1 O

= #q] B BN o _

2 % 4 S -2 |%| mea Fray | cman | BE\WIE g o

% #* (A) (B) B-A ™"

TE ERE 3 40 40 28] 0.70 | 0.48
i T EF 3 80 80 20 0.25 | 0.15
SEFD EEF ] 40 40 14 0.35 [ 0.25
EME—XF |[EEFR oS 40 40 17 0.43] 0.40
PNCE T EF 3 40 40 71 0.18 | 0.25
PNCLE EEF s 80 80 55|  0.69 | 0.94
NI TEF E 40 40 7] 0.18 | 0.35
RS EEF 3 80 80 52 0.65 | 0.83
1§52 EEF s 40 40 25| 0.63 | 0.55
A= TEE 3 40 40 14 0.35 | 0.28
BN EEF 3 40 40 13 0.33] 0.33
S T EF s 80 80 46]  0.58 | 0.46
MREIFZE [E&8F 3 40 40 8| 0.20] 0.13
AR B 3 40 40 11 0.28 | 0.9
PPES BT @EE 3t 120 (40) 80 102] 1.28 ] 0.95
RE @R 3 40 40 6| 0.15] 0.13
ERAE B 3 40 40 12 0.30 [ 0.40
RE TEE H# 40 40 221 0.55 | 0.65
O TR TEE H# 80 80 271 0.34 ] 0.31
E & 7 B 1040 (40) 1000 486] 0.49 | 0.50

TR FMEE _ No. 1 1

=2 & ] PN

== % e =]

2 % £ 2 — 2 |&| BRAR | peay | ROX | BREEE) G s

% H (A) (B) B=A
I x Ic 3 5 T #
XELE IERME E: 80 80 6] 0.20] 0.18
=E=£3 T ERME T 30 30 12 015 0.15
BT E T ERME E 80 80 170211 0.23
T E 7 = 240 240 45] 0.19] 0.18
B ¥ - B 4 5 =

XEBE EEZS E: 40 40 9] 0.23] 0.08
O HmzEfE BEE 3t 40 40 9] 0.23] 0.28
ECEEIE? = 30 30 18] 0.23] 0.18

- OHlIX., MIIEEER

2—10



ERf] BEFH — —= No.1 2
-+ : 5 AZFEFA] —+ % N 27 =
2 B £ 3 - 2 |k| B AR | geay | CRAK | BR AR G o4
% #* (A) (B) B-A|™"
NSy 1 2} I 160 (4) 156 178 1.14 1.07
I & H 80 (2) 78 21 0.27 0. 51
P B I & H 80 (2) 78 83 1.06 1.31
I & H 80 (2) 78 116 1.49 1.33
I &R H 80 (2) 78 57 0.73 0.74
e _EFhfx I &R H 144 144 159 1.10 1.17
I & H 72 12 11 0.15 0.14
SIER I &} I 80 (2) 78 70 0.90 1.38
| T &8 H 80 (2) 78 45 0.58 0.42
i 5 = #H = 856 (16) 840 740 0.88 0.94
LR TE - M - REFE =t | 2.216  (56) | 2. 160] 1,289 0.60 1 0.62 | ]
l S HE - EEFIOKE =t | 41,736 (296) | 41, 440] 47,9271 1.16 | 1.16 ] ]

2—11



